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Instructions for the candidates :

Candidate must enter his / her -

Question Booklet Serial No.
(10 Digits) in the OMR Answer
Sheet. |

Candidates are required. to give their

answers in their own words as far

as practicable.

Figures in' the right hand margin

‘indicate full marks.

15 minutes of extra time have been

wwg?ﬁisﬁﬁa’ H HldR® T allotted for the candidates to read

4 | the questions carefully,
5. 7% 7o gk 5 @vel f ¢ mug-ar s This

o/ - | =5 o question booklet is divided into

gue | 0 sections — Section-A and
| Section.-B, )
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@Ug - A / SECTION - A
aﬁﬁ‘m "I / Objective Type Questions
wyT AT 1@ 70 7% % WRF Wy & wrer aw fweT A v & ﬁﬁ##@a‘?ﬁ??!

mmﬁwﬁﬁmﬁ omvﬁzwﬁ:ﬁaaﬁrﬁa?‘i‘ssmwm#f

35 x1 =35

Question Nos. 1 to 70 have four options, out of which only one is correct. You have to .

mark your selected option, on the OMR-Sheet. Answer any 35 questwns 35x1=35
(a) FIHH | B WA
g - ) Tad=nd . o) wEAH
; Mens.trual cycle occurs in | '
é | _ 'Human | (B) Monkey
3 . (C) Chimpanzee All of these
= P W _
& E’@“@q %H ERICHIG] % ? .
o
v : _ . o
z Ay erd (B wn‘}ﬁmvﬁ |
< - . o . ) Y .
N . y/(m #ir (B) < - ) FH H RIS T
Binary fission occursin - -
(A)  Amoeba | o (B) Paramecium
(C) . Both (A) and (B) - (©) None of these
\7 ?ﬂt{ﬂq afmg k: Hﬁzﬁ?ﬁ? 18% % et fef Sfeer @ B 2
C a4 : L (B] 36
© 8 | (D) 32
In a DNA ‘molecule, t}I16 cytosme is 18%, then the percentage of adenine wﬂl be
A) 64 . 36
[119 1D [(A)-9009-Da  Page3of24

https://"ﬁf‘ww.b'sebstudy.com

wod Apnysqasq mmm//:sdny



wod Apnisqasq mmm//:sdny

https://www .bsebstudy.com
R forg e T € 2

4,
AR (B)
(A) ‘
D He
© T (D) .
Widal test is done to confirm : ‘
: hoid
Malari ® TP
" o (D) Cancer
€y’ AIDS ¢
/wﬁmﬁﬁﬂrﬁﬁmwwm%? o
(A B-SIRmER ' | (B) Taﬁ%ﬁ” o
© T B D) TBFR aﬂﬁﬁ’—f
HIV attacks on which of the followmg cells 7
(A)  Becell ; N \)X Tcell 3
(C) = Epithelial cell R L/]/ T-helper cell - .
(6, % ek for s e s 6 ¥, 3 e &
(&)  TESA | | , ®
The substances to which an immune r-es L .
- pon .
(A)  Allergens SR (B.) se ;S pr?duged, are called
( Antibodies . o Aaccmes
. : . . ' ntigens )
®)  feerfim | -
, B) '
T | R
Chemicg) relleased (D) ki S .
due to ) : ?ﬁ}é BE]
(A] Histamine ergy 18 - .
(A) and B :
(B) (B) Serotoniy

(Dj N
on
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8 .
| ?ﬁﬁﬁ%@ R S e
f [BEGSa, ?
| B) wigew
" D) s Sz

(A) . Oospores

(C) Synergids | ) Antipodals
(D} Second 1
- Fﬂ:{ T\q} e N ary nucleus
/ ig' ”“”aﬁwaﬁﬁi‘éﬂmaﬁwmﬁ%?
(a)° Eﬁ@’r‘w | ® s
© SRt oK wame
One gene pair hides the effect of another gene pair. This phenomenon is
Epistasis o C - (B) '~ .Dominance
(C) Mutation . (D) None of these

10. - Wmﬁmaﬁmﬁ?ﬁqmwwﬁﬁmﬁmmﬁ
S %, ?ﬂiwmﬁ%?j | ’

JGar B S (B) ?Hﬁacraﬁ?:ﬁ:[

© wHAH=E . (D) wmaﬂ@ﬁ#

A sequence of three bases on tRNA which bmds to mRNA codon is

(A)  Triplet '(B)' Non-sense codon

(C) Antlcodon R . (D)  Termination codon
11. Eﬁ‘“\fﬁméﬁqﬁa’f aﬁﬁﬁ”ﬁtﬂiﬁﬁmﬁﬂaﬂm% www% ?

@) steten | Sfery

o B (o) e

The group of Wuchereria bancrofti which causes filaria in human being is

Lu00'Kpm,sqesqm&xm;/:sduq

(A)  Protozoa ' (B) Bacteria
(C) . Virus o (D)  Helminth
[119] D [(A)}9009-Deaj - Page5of24
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?
. 21 wqiferel g 8
12. Ffyeh 3 ﬂﬁf I \}’/I@;H
{
A T |
o (D) il
( Sl e Tyt f alcohol ?
Which n of the body is most affected by excessive intake 0
ich orga .
(A)  Lungs (B) - Liver
(C)  Spleen (D)  Stomach
13/ tted & FER @ OH ATERE ¥
(W (@) T H S
Jg;/ RlEtea) (D) A HTHEA
An exception of Mendel's law is
(A) | Dominance (B) Purity of gamete
JGY Linkage (D) Independent assortment
14, 4 % #4 99 darfa qn 2 ? .
L
(A I,
B B) ¥
ICl ety

‘-p’/
“]HCII 0! lhe Iﬂ W i ¥

A Typhoiq
€ Malarig _ (B) _ Cholera
j e } B Syphilis

N g |

(C R (B > .

Ej " ) I sy
Chidp, is
[ (DJ : 2o P

(A c““nccﬁn | LS Ls1 EOES T

©) Exting, ) B link

nk

LuOO'Kpm,sqesqm&xm,f/:sduq
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(A) T wenfy
(©) s gy
Dodo is - '

(Al Extinct specieg

(C) Threateneq Species

. (B) Hmmm

D) w0 ¥ = =t

(B)

Endangered species

| ' ¢ ' : (D) None of these
17, PP A B v ey ¥ -
(A) - 3UZ] - ‘
* - , B)  yom
“ R D) A
Which of the following is a diploid structure ? o
()  Ovum - ® " Brdosperm
(C)  Zygote S (D) All of these
18. ﬁﬂﬁ@ﬁ?ﬂmﬂﬁqﬁﬁ%) - '
R | B R
l.(C] e (D)
Which one is hydrophytic plaxf_t_?_ ' -
(A)  Trapa R (B) Opunta .
(©) . Dalbergia (D) Acacia
19, kel s e ol € _-
@) gEorH @ T
©  siewm A o T
Sertoli cells are found in .
Y Testis (B) Uterus
(€) OVarj;r (D) Liver
\\
| 119‘] D_ HA)-0009-Dza) Page 7-0f 24
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N (B)
| TRERE
IM llsed for

a
11197} - | (B)
(o't)-';mgg_umj (D)

el w0 A
an et ﬂi,ﬂ" & ’I”qﬁ ¥ Hn 44 ¢ ‘xv
N ¥ p XX
TYRGARRD S A
) ofe XY .  peing (makel 19
Nusnher ol ehromosemes i hmat ,19)/44 ¥ XY
(A a4+ XX oy 46t XX
ﬁﬂ ag « XY
9y R AU s 17 1 AT e ?
©) IR EW o) R
Rhno sanctuaty is located in which state ? ‘
(A} Assam () West Bengal
() Vuar Pradesh (D) Bihar
2. e & wmeRinfew F g wmr @
(A) WA E it B T T e
€ WE2fEA oo gifem ,
o (D) A T Qfger
Pyrimidines present in RNA are
(A} Cytosine and Thymine B A
(€©)  Cylosine and Uracil D) denine and Guanine

THMme and Uracﬂ
5 . .

Pertusis

Te tanu s
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24, 1 4 s
7wy Uimig Ay WYy
(A) fiaedsy
¥ Ao enrreaets
(C) GRS glfé-ﬂsﬁmgg v AT
Which of the following ig ney My g
(A) Mcthane 7 Rreenhouse WA P
(C) co, B}  Chlarafluarocarbnn
(D)  Nitrogen
25. wIEl ﬂﬁﬁﬂ U uing 3
(a) el & _
fere B) amii & fe
© e fere (D) ufsaret & fem
- Kanha I\Talional Park is famous for =
“;3: (A) er‘ds J,B( Tigers §
;": (C)  Rhinoceros (D) Crocodiles %‘:
s 26 T T B HRR @ H HH G 2 <
= =
o s : \ 3
& () I, g SR S (B) T, Mg AR A 3
o
4 . n 3
z \lg}/ﬂ,maﬁeﬂ?ﬁt (D) UM, ASell AR I z
< ' <
g Which of the following is the correct food chain ? 8
= ~ {A)  Grass, Wheat and Mango (B) Goat, Cow and Grass =
JQ/ Grass, Goat and Lion (D)  Grass, Fish and Goat
& Hfaerararse &
(A) YR + TF ARZNH I 99 (B) YR + BiEhe
(C) TN g a9 + BIehe (D) T ¥ HF 7
Nucleoside is _
N/ Sugar + a nitrogenous base (B)  Sugar + Phosphate
(€)  Nitrogenous base + Phosphate (D)  None of these
(119D ‘
ID [(A)-9009-Dis Page 9 of 24 e
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2 itz Fion @) D B

o iRAAEE - (B)

The process of formation of gametes is called
e

A Gametogencsis (B)

(C) Sporogencsis (D)
20. YRR A §
() TGRS | (B)
€ wE (D)
Restriction enzymes are
(A)  Exonuclease . (B)
(C)  Ligase (D)
37 s sE o e R ) o

(A)  wIE (B)
€ uitfefost dx (D)

In National Park, protection is provided to
(A} Flora (B)

;[}Y' Ecosystem ' (D)

VA ®)
5 R (D)
SEcn d
(A sy Productivity jg related to
} Producel.a

© oy ®)

Cal'nwore
(119 ° ‘
ID U\)“QGDQEDIS (D)
9}

resraRtad

w0t @ I3 Tl

Cytokincsis

None of these
GRS

Endonuclease_

Polymerase

EIST i

(A) 3R (B) AT &

Fauna

Both (A) and (B)

YIRTEIRY
T R K 5

Herbivores

None of these
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9 Ty «
RISy RIC )
(A) éh‘i:ﬁ:] Ty &)

@ Tl T ) 74y,
"

2 .. ,
astcus 1Z8lion ;5 heay;
: i

(Al milk only

]
ng of

(C) any liquid at 70+
WRETMAT et &

(A) USh-T10g

© =y

The wall of pollen grain is
(A) . Single layered
(C Triple layered

—y 7-ferhigRe I gl @

Ry

My

(R
)

(B)

(D)

(B)
(D)

R R T T N

0T 8 ) oy

any liquid abave 100°C

none of these

el
T

Double layered
Multi-layered

wod Apnysqasq mmm//:sdny

(a) AT R B w3
(C) IEEH | (D) 9Fd ¥
T—lymphocyte originates from
) Bone marrow (B)  Stomach
(C) Thymus (D)  Liver
35. EcoRl USIEH & €A ¢
(A)  Bam H1 | B) E.coli
(C) (A) 3R (B) &I (D)  Hind111
Source of EcoRI enzyme is
(A) Bam H1 (B) E.coli
(C) Both (A) and (B) - (D) Hindl11
[119 ] D [(A)-9009-D@s) Page 11 of 24
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39 : 'T:h‘lé

| (A) Drosera

B Algae

https://www.bsebstudy.com
1“:#:{ 3 ®F el e € 7

G

c A 3R (B) 3l

B A9
o) EEEeT

ivorous plant(s) ?
(B) Nepenthes
(D) : Huydrilla

Wﬁich of the following is/are insect

) Both (A) and (B)

fr ot § e SR A E 2

@ (B) WM
© (&) 3R (B) 3l o (D) YT
Out of th'c__'followi.ng w_hich'o-ne.is*hermé.phrodite organism ?
(A) . Hen R (B) Snake
(C) Both {A) and (B) - ( Earthworm

o B S
©) uﬁasm N T

Chlorella is a type of.

(8) ' Bacteria
A Seris 3 o e w3

(€) " Protozoa

https //WWW bsebstudy com

Single cell protein

wod Apnysqasq mmm//:sdny



wod Apnisqasq mmm//:sdny

/ﬁwﬁ@%ﬁﬁqﬁ%éﬁ% )
(@A) @%mwm%

https://www.bsebstudy.com

(C) ﬁhW%Wq

Purine bases of DNA are

(A) Adenine anq Cytosine

Adenine and Guanine

\/m?m"ﬂm-@m% 2

¢

42.

(C) wmmﬁﬁV

Cancer is caused by
(A)  Bacteria
(C)  Both (A) and (B)

Qe VA H R 9§ ?.' |

) AR SR g
m'ﬁ@mﬁ

(B)  Cytosine and Thymine

(D)  None of these

| y aamvﬁq AR
e AP
| QE) On.cogerlies

(D). . None of these

- (A) EilﬁﬁTfﬁ PEGEH (B) éﬁﬁ TS
© @A) aﬂ? (B) I (D) T HE :reﬁ
Which one of the followmg is possible in m1cr0propagatmn ?
(A) Ascxual reproducuon (B) Sexual reproductmn
(C) Both (A) and (B) (D)  None of these

43.  forw wor o sitereller @A SR ¥ 2
(A)  STwE B) @l
(C) . ¥Riw mﬁw
Aril is edible in which of Lhe following fruits ?
(A)  Myristica (B) Litchi
(C)  Annona (D) All of these
‘--_-——_

11191 D [(4)-9009-Dea]
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3
SO, WEHOT ST TIP T

(B) [GIE!
a) - .
(D) ?ﬁﬁﬂﬂ:ﬁ

-

(C) chdch

Indicator of SO, pollution is .
ichen
(A)  Algae . \)E)/ Li

(C) Fungi (D)  All of these

a5, Wﬁﬁnﬁ@qw—rﬁ%? |
A R AyEed! vFEJ/TFﬁIT‘T:*EF@

© e g D) (A} 3R (B) ST
Honey is made by '

(A) © Male honeybce "~ (B)  "Queen honeybee
(C)  Worker honeybee (D} Both (A) and (B)

yﬁmﬁmﬁﬁq—ﬁaﬁwﬁgﬁﬁﬁﬁﬁr%f

=

(A) & - B EE
M(A]ﬁ(B]ﬁ;ﬁ o (D) Wﬂ@ﬁ
Which diseasé 1s found in hen ? _
(A) * Cholera (B) Srﬁut
(©)  Both (A) and (B) | &J/ Ragikhet
Vmwmwmmwﬁwmamm% )

The flouy of 14k and p "
lan 0sa is
(A) Bacter. made by the use of
ia which microbe
c -
) Viryg (B) _Lac.tOE_Jacillus
Do Dy Yeast

Page 19 op 24
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(A) Ty
© wEwy ®)
Agarose is extracted frop, (D)
[A) ' M&iée
[C} CyCC[S ) e {B

. (D)
/ #TT B St o o
(a) .Wmm |

(B .

(O S e .

Operon model was Pfop.osed by-- 3 C
(A) Watson and Crick’ ) ' - (B)
Jacob and Monad _ | (D)

5o v A Ee ¥

’)pfr/'coz_ - B lﬁ)

© CHy D

Biogas contains -

(A) CO, o )
cH, - D

51 sl fover e 3 g # 7
| (A) ?ﬂziz"h B

o e | D

In which stage does crossmg -over take place ?

U T

T wE

Sca weeds

None of these

T | IS

- Nirenberg

- None of them

All df these

m@ﬂqﬁﬁ?ﬂ

() Leptotene C (B)
(C)  Pachytene ’ (D)  Diakinesis
. ‘--_""‘—‘—-—-——_ .
l 119 } D (A)-9009-D(34) Page 150f 24
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Wozilestize A faam) #io Bd & 2

apsr LT 7Rl

(A} HIV B (K

©) b () LA

PCHR is used to detect _

(A} HIV e T B.

(C) A Cholern " (D) Cancer

wers sitfam wEn wiferE @ ypi dhe s ST &1 39 0 1 FEl &

(A) i (B)  TIETEFRATA

© S (D) FH F G

Every living cell of plant can give risec to the whole plant. This property 3

known as

(A} Cloning (B) Somaclonal

ﬂ Totipotency (D) All of these

3 el it & s S g 9 s

A

A B 2n

(C) 3n

95,

(D)  (A) HR () g
What is the ploidy lev

el of chromosomes j i
Wbt in endosperm of angiospermic plant?

\19/ 3n ’ L)‘P}/ 2n

e (D) both () and (c
mmwmﬁwwmgﬁ}%’ﬁ% (C)

N HET ST
(A)  ©E S - ¢
I
© a3 () G T
D) il gy

Asexua] reproduction

B
119 - ' 2 '
| ] D [(a) 913()'9.1:)“‘1‘:IJ lnlernal fertilization
Page 16 of oq _——
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ﬁ. T Yy g AU ERH R )
Y g 1] )R }'JI

WX ) gk

(C)  aq \Jﬂ/m
L) . .

(A) 2] Mbsomes preaent e human gametea ?
(C) ; q my 23
. () 46
P7. SlITE HISA 20 w2l wg b
N TR (B) ST T CCFLIOT
@ SR Uy (D) ST T HeF
“f

hat does operon modcl represent ?

(A) Gene synthesis (B)  Gene expression
(C Gene regulation (D)  Gene function

58. = 9 q fege RASIESERCIDIEC o )

[}

(A)  IRIET , ym

-
- LY
. M

wod Apnisqasq mmm//:sdny

(€ AR (D) H F il
Thalamus is edible part in which of the following ?
(AKX~ Annona ' , (B) Apple
(C)  Orange (D)  All of these
S8 S e A @ feraenr st wwE § 2
(A)  uwe (B) SwRfEGE™

\(g‘(/m]aﬁ“{(ajﬁ D) ¥ 9 FK T
DNA is genetic material of ‘

(A} TMV \LBG/ Bactenophdge
(C)  Both (A) and (B) (D)  None of thege

[\\\_‘ \
Ha 1D {3]- 9009 -Dy24q) Page 17 of 24

~ https://www .bsebstudy.com

wod Apnysqasq mmm//:sdny



wod Apnisqasq mmm//:sdny

https://www.bsebstudy.com
| Wﬁﬁﬂ[ﬁﬂ?ﬁ'ﬁaﬂ 3EBR mﬁmi?ﬂ Wrﬁiﬂ?ﬂ ¥

A Qiﬁrﬂ’ﬁa y (B) -stﬁ«'?ﬂ'ﬂ’
(N i o AW

Flow of energy in food chain of an ccosystcm 18

\y/

‘\_JM/ Unidirectional (B)  Bidircctional
- (C) Multidirectional " (D) None of these
6. T H QY I UF Aow @K T ?
a)  FFeTelRTRT B) afgerq gRI=TRkT
(C) 3T | D) FLINSTH
Which of the following is not a biofertilizer ?
(A)  Azotobacter - (B)  Bacillus thuringiensis
(C)  Azolla _ _ S (D)  Clostridium
62 &7 TAT Sl shAYT TEaa: fohedh gRT elar € 2
A) S . .@®
€ @ D) W&

Tuberculosis is transmitted by

(A)  Water . \})/ Air

* (C)  Insect ' \P}A Contact
63. W g Wqﬁ%ﬁwﬁnﬁwm% ?

A e se | y g

€ e
‘ | | FH 9 mﬂ
“TRRACtOrg iy s
" p::? ' optimal conditiong produce
ugy '
©) Modjyy, o Oreaniem

(D)  All of these

wod Apnysqasq mmm//:sdny
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64. f:f‘:T e Ny
T
) B a4
" iy,
(©) %"F‘ﬁﬁm ‘
my . .
Which o (3, YR
C l‘ollowmg ; () f
(A) Mumpg S no Virg] it
alg
(C) Diphthena 'Seage 5
65 ﬁj:’%]o@ﬁ o Eﬁi}:r (B IMflluen,q
% g V&[ﬁ_‘.ﬁ e % Measlcs
@A) YT g | €2
© ey ®) T2 g
' D
Which of the fouowmg is not D) ey @it
Includey :
(A) Bee-keepmg *dIn animq husbandry ?
(C)  Fish farming (B Poultry farming
(D) i

(B} t‘% Enlo Bl

€ €7 oy D) = Frg
Who among the following is not related with microbiology ?

(A) Louis Pasteur (B)  J.D.Watson

(C) Stephan Hales - (D) Robert Koch

" Wi et gy o & 7
Y s | (B) = A-HREH
o R

Q) - -

(A)-9009-Dg4)]. Page 19 of 24
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Anticodons are found in

>
ICI I'-RNA
o5 s o
© @ 3R (B) AT (D)
Mendel proposed
(A) = Law of linkage B)
. X Both (&) and (B ©)
/gaaa?{w + fogid El?f AR 1 FEd % ?
@) ot R ®
(€ T ) e e (D)
Law of segregation is also known as
" (A) Law of dominance ‘{ (B)
M,aw of purity of gametes (t))
70. ﬁmﬁrﬁa‘#%ﬁmw%ﬁm% |
(A) qﬁ'ﬂﬂﬁlﬂf (B)
€ foem
(D)
_ Whlch of the § |
olﬁowmg factors is i
mportq
(A) Competltlon it
(C) _ lsolgumn [B)

(D)

P&ge 20 of 24

t-RNA

Nonc of these

aypeifirepat 1 A
il @ T

Law of inheritance

None of theét:

T HTE I

o ¥ 9

. Law of mdependent assortment

None of these

Sty
ﬁw%ﬁm

he
formatlon of new spec1es ?

MUtatmn

Contmuous variation
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g - 5 SECTION B
g TE Wy / g one
hort Angwe, Type Questions

WW1#2OWW§‘IWIOW%W#

3\ fmfk)%l.(rzafﬁ?‘

mes 2 m
ca arks : 10 % 2=20

1 sitfeiey s ?mwwmaﬁﬁmwﬂv%mﬁﬁaﬂaﬂhﬁl 2

- What is Amoeb1as1s ? Name its causal organlsm and descnbe the symptoms of B '

this discase. htlpw wWww, b-.thlud\ com

/ Eﬁ?’ﬁw%?mwﬂﬁaﬂamﬁmﬁr R .2
What are éll_ergies?Deé,crﬂlae‘its syniptoms. in brief. - | |
/ wEEEARE .,
‘Write the- functlons ofblood D |

/ ﬁaaaﬁnw%?‘w%wm’imaﬂ#ﬁ| S 9

hat is global warmmg ? Explam its effects

‘What is , inbreeding ? | o o . |
6. iﬂé:{ﬁ:ﬁ‘{ ﬁﬂ?ﬂﬂ TR THRT a?r’fo | - o ,
Throw light on Klinefelter's syndrome. '
7. ?i)[oqqoaﬁo a7 W ngﬁ'I . K '
Throw light on G.M.O. | -
8., Wﬁm%ﬁmmmmwmﬁqm[ : -.2
/ Draw a necat and well labelled diagram of transverse sectlon of human OVafy

[119]D [A] 9000- D{J Page21of24 T
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10.

11.

a

,_
o

16.

https://www.bsebstudy.com

eer 3 e & R @ ferd

Writc reasons for success of Mendel,

e s ST ) uReE

Define Coupling and Repulsion.

Hay F SR &7 Tui Wi u\

Describe transcription in brief.

S (St =) i faeror s w
Explain Biopiracy in brief. |
What is test-tube baby ? .
mﬁaﬁzﬁmﬁ@m‘aﬁwmaﬁqﬁ- |
Descnbe the: ecologu:al adaptatmn of xcrophytlc plants
aﬁlﬁsﬁ & ‘g’mrﬁvm”r £l avm w
Describe the ill effects of alcohol.

S YReT W v g

Comment on Innate-_imljﬁunity |

https://www.bsebstudy.com
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18 SRS gy

yr U ISR wiyfye (wiemett) = W iR o e
Draw a neat labelled diagr

am

20. Sor-faferay dieaye i EE

of a typical antibody.

What is biodiveljsity Eotspot ? Write' down
such hotspots of India.

5 o Fraffe ?‘!aﬁv aiﬁzm-Jzo-ﬁiﬁi‘;ifgi#aﬁtr:
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B <t Iudyg o f'Loﬁg Answer Type Questions

the names and specialities of two

e "Ear 21'#'26.5?3‘3%1??#:@#_3“ E_Fﬁﬁ.awafim%';m%%v

3x5=15

: ' _ ' i " ions. Each
Q' .t' Nl 21 to 26 are Long Answer Type Questions. Answer any 3 questions
uestion Nos.

' ( | 5=15
[ qrries 5 marks. Give your answer in about 120 words. | 3 x
_question ca _ .
. - ] - X 5
2y, e deE W T Py ferd
‘Write .an Iessay on tissue culture.
i ) : )
3 5T T L | 5
g 7 frdam = fRar 1
oo, it dEl H R
/ | Describe fertilization in flowering plants.
esc _ |
¢ Ffera =i | .
21T deieh

23. A= |

Describe recombinant DNA technology in brief.

esc _ |

m‘hﬁwﬁ%wﬁamﬁiﬁimﬁuﬁq@waﬁ#aﬁl- -
24, | ‘

Describe three ecological pyramids with suitable examples.

. m | (A)-9009-D@4)| Page 23 of 24
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25/ S B ¥ 1ot FRuA @) fafir fafial @) ferarg=T Y

Discuss various mcihods of contraception for the population control.

7-%@1%@1% ?Wﬁﬁmwﬂgﬂzﬁqﬁ{wmi

What is pisciculturc ? Mention its role in enrichment of our food.
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